General Chemistry 1 Name:
Worksheet #6 Redox. Chemistry, acid/base chemistry, precipitation reactions and titrations
Dr. Brosius

a. H>C:04(aq) + Na>O(aq) — +
RXN type:
b. ___ Pb(NOs)(aq) + ___ NaxS(aq) » +
RXN type:
c. HCl(aq) + NaOH(aq)) = +
RXN type:
d. Cu(s) + H'(aq) + NQ;  — Cu’'(aq) + NOa(g) + H-O(L)
RXN type:
2. Give the oxidation number of each element in the following balanced reactions.
a. 4 Al(s) + 3 Ox(g) = 2 ALO:(s)

b. 2 MnO, (aq) + 6 H'(aq) + 5 HoC204(aq) === 2 Mn’'(aq) + 10 COx(g) + 8 H>O()



